
JU
LY
  2
0
23



July 2023

TEKNOROT REF: AF-421 ADAPTABLE ALFA ROMEO
Tie Rod End

Weight: 0,427

TONALE

MODEL NO BODY YEAR DIRECTION OEM NO

2022- Front Right 68572516AA, 77369143

Length: 135 Bolt Metric: M10X1,5 Housing Metric: M16X1,5

TEKNOROT REF: AF-422 ADAPTABLE ALFA ROMEO
Tie Rod End

Weight: 0,427

TONALE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2022- Front Left 68572517AA, 77369144

Length: 135 Bolt Metric: M10X1,5 Housing Metric: M16X1,5

www.teknorot.com 1

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



July 2023

TEKNOROT REF: B-1378 ADAPTABLE BMW
Lateral Arm

Weight: 0,882

X3

MODEL NO BODY YEAR DIRECTION OEM NO

G01/ F97/F98 2018-
Rear Right

Upper
Rearward

33306871016

Length: 465,5

TEKNOROT REF: B-1378 ADAPTABLE BMW
Lateral Arm

Weight: 0,882

X4

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G02/ F98 2018-
Rear Right

Upper
Rearward

33306871016

Length: 465,5

www.teknorot.com 2

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



July 2023

TEKNOROT REF: B-1379 ADAPTABLE BMW
Lateral Arm

Weight: 0,882

X3

MODEL NO BODY YEAR DIRECTION OEM NO

G01/ F97/F98 2018-
Rear Left

Upper
Rearward

33306871015

Length: 465,5

TEKNOROT REF: B-1379 ADAPTABLE BMW
Lateral Arm

Weight: 0,882

X4

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G02/ F98 2018-
Rear Left

Upper
Rearward

33306871015

Length: 465,5

www.teknorot.com 3

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



July 2023

TEKNOROT REF: B-1398 ADAPTABLE BMW
Lateral Arm

Weight: 0,595

X3

MODEL NO BODY YEAR DIRECTION OEM NO

G01/ F97/F98 2018-
Rear Lower

Forward
33306871023

Length: 338

TEKNOROT REF: B-1398 ADAPTABLE BMW
Lateral Arm

Weight: 0,595

X4

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G02/ F98 2018-
Rear Lower

Forward
33306871023

Length: 338

www.teknorot.com 4

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



July 2023

TEKNOROT REF: BM-BS205 ADAPTABLE BMW
Lateral Arm Bushing

Weight: 0,82

3-SERIES

MODEL NO BODY YEAR DIRECTION OEM NO

G20/G21/G28 2018-
Rear Upper

Forward
33326878632*, 33326878631*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 48

B-1228 Lateral Arm
Rear Right

Upper Forward
33326878632

B-1229 Lateral Arm
Rear Left

Upper Forward
33326878631

TEKNOROT REF: CH-1136 ADAPTABLE CHEVROLET
Stabilizer Bar Link

Weight: 0,333

EQUINOX

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

3rd Gen 2018- Rear
K750939, 84196992, 84379202,

84477697

Length: 180 Bolt Metric: M10X1,5

www.teknorot.com 5

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



July 2023

TEKNOROT REF: CH-1136 ADAPTABLE GMC
Stabilizer Bar Link

Weight: 0,333

TERRAIN

MODEL NO BODY YEAR DIRECTION OEM NO

2nd Gen 2018- Rear
K750939, 84196992, 84379202,

84477697

Length: 180 Bolt Metric: M10X1,5

TEKNOROT REF: CH-1206 ADAPTABLE CHEVROLET
Stabilizer Bar Link

Weight: 0,449

CAPRICE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

6th gen 2011-2017 Front Right 92253276

PPV

Length: 299 Bolt Metric: M10X1,25

www.teknorot.com 6

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



July 2023

TEKNOROT REF: CH-1207 ADAPTABLE CHEVROLET
Stabilizer Bar Link

Weight: 0,449

CAPRICE

MODEL NO BODY YEAR DIRECTION OEM NO

6th gen 2011-2017 Front Left 92253277

PPV

Length: 299 Bolt Metric: M10X1,25

www.teknorot.com 7

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



July 2023

TEKNOROT REF: FD-BS303 ADAPTABLE FORD
Control Arm Bushing

Weight: 0,564

EDGE

MODEL NO BODY YEAR DIRECTION OEM NO

2nd Gen 2015-2024 Front Lower
F2GZ3078C*, F2GZ3078B*,
F2GZ3079C*, F2GZ3079B*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 63

FO-1548
Control Arm

and Ball Joint
Assembly

Front Right
Lower

F2GZ3078C, F2GZ3078B

FO-1549
Control Arm

and Ball Joint
Assembly

Front Left
Lower

F2GZ3079C, F2GZ3079B

FO-1658
Control Arm

and Ball Joint
Assembly

Front Right
Lower

1877652, E1GC3A052AEB

FO-1659
Control Arm

and Ball Joint
Assembly

Front Left
Lower

1877653, E1GC3A053AEB

www.teknorot.com 8

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



July 2023

TEKNOROT REF: FD-BS303 ADAPTABLE LINCOLN
Control Arm Bushing

Weight: 0,564

MKX

MODEL NO BODY YEAR DIRECTION OEM NO

2nd Gen 2016-2018 Front Lower
F2GZ3078C*, F2GZ3078B*,
F2GZ3079C*, F2GZ3079B*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 63

FO-1548
Control Arm

and Ball Joint
Assembly

Front Right
Lower

F2GZ3078C, F2GZ3078B

FO-1549
Control Arm

and Ball Joint
Assembly

Front Left
Lower

F2GZ3079C, F2GZ3079B

FO-1658
Control Arm

and Ball Joint
Assembly

Front Right
Lower

1877652, E1GC3A052AEB

FO-1659
Control Arm

and Ball Joint
Assembly

Front Left
Lower

1877653, E1GC3A053AEB

www.teknorot.com 9

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



July 2023

TEKNOROT REF: FD-BS342 ADAPTABLE FORD
Control Arm Bushing

Weight: 0,356

EXPLORER

MODEL NO BODY YEAR DIRECTION OEM NO

U502 2011-2019 Front Lower GB5Z3078D*, GB5Z3079J*

COMPONENTS NUMBER NAME DIRECTION OEM NO

w/ Manual Headlamp
Leveling

Length: 59,8

FO-1818
Control Arm

and Ball Joint
Front Right

Lower
GB5Z3078D

FO-1819
Control Arm

and Ball Joint
Front Left

Lower
GB5Z3079J

TEKNOROT REF: FO-1818 ADAPTABLE FORD
Control Arm and Ball Joint

Weight: 7,601

EXPLORER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

U502 2011-2019
Front Right

Lower
GB5Z3078D

COMPONENTS NUMBER NAME DIRECTION OEM NO

w/ Manual Headlamp
Leveling

Length: 353 Bolt Metric: M16X1,5

FD-BS342
Control Arm

Bushing
Front Lower GB5Z3078D*, GB5Z3079J*

www.teknorot.com 10

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



July 2023

TEKNOROT REF: FO-1819 ADAPTABLE FORD
Control Arm and Ball Joint

Weight: 7,601

EXPLORER

MODEL NO BODY YEAR DIRECTION OEM NO

U502 2011-2019
Front Left

Lower
GB5Z3079J

COMPONENTS NUMBER NAME DIRECTION OEM NO

w/ Manual Headlamp
Leveling

Length: 353 Bolt Metric: M16X1,5

FD-BS342
Control Arm

Bushing
Front Lower GB5Z3078D*, GB5Z3079J*

TEKNOROT REF: H-1026A ADAPTABLE HONDA
Stabilizer Bar Link

Weight: 0,268

CIVIC

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

FE/FL 2022- Rear 52320TEAT00

Steel Type

Length: 59 Bolt Metric: M10X1,25

www.teknorot.com 11

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



July 2023

TEKNOROT REF: HY-1044 ADAPTABLE HYUNDAI
Ball Joint

Weight: 0,899

STARIA

MODEL NO BODY YEAR DIRECTION OEM NO

2022- Front 54530CG000

Length: 76

TEKNOROT REF: HY-1198 ADAPTABLE HYUNDAI
Control Arm and Ball Joint

Weight: 3,458

ELANTRA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

CN7 2021-
Front Right

Lower
54501AA100

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 384,7 Bolt Metric: M12X1,25

HY-290 Ball Joint Front Lower 545300U000, 545303X000

HY-BS172
Control Arm

Bushing
Front Lower

Outer
54501AA100*, 54500AA100*

HY-BS173
Control Arm

Bushing
Front Lower

Inner
54501AA100*, 54500AA100*

www.teknorot.com 12

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



July 2023

TEKNOROT REF: HY-1199 ADAPTABLE HYUNDAI
Control Arm and Ball Joint

Weight: 3,458

ELANTRA

MODEL NO BODY YEAR DIRECTION OEM NO

CN7 2021-
Front Left

Lower
54500AA100

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 384,7 Bolt Metric: M12X1,25

HY-290 Ball Joint Front Lower 545300U000, 545303X000

HY-BS172
Control Arm

Bushing
Front Lower

Outer
54501AA100*, 54500AA100*

HY-BS173
Control Arm

Bushing
Front Lower

Inner
54501AA100*, 54500AA100*

TEKNOROT REF: HY-BS172 ADAPTABLE HYUNDAI
Control Arm Bushing

Weight: 0,345

ELANTRA

MODEL NO BODY YEAR DIRECTION OEM NO

CN7 2021-
Front Lower

Outer
54501AA100*, 54500AA100*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 60

HY-1198
Control Arm

and Ball Joint
Front Right

Lower
54501AA100

HY-1199
Control Arm

and Ball Joint
Front Left

Lower
54500AA100

www.teknorot.com 13

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



July 2023

TEKNOROT REF: HY-BS173 ADAPTABLE HYUNDAI
Control Arm Bushing

Weight: 0,185

ELANTRA

MODEL NO BODY YEAR DIRECTION OEM NO

CN7 2021-
Front Lower

Inner
54501AA100*, 54500AA100*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 54

HY-1198
Control Arm

and Ball Joint
Front Right

Lower
54501AA100

HY-1199
Control Arm

and Ball Joint
Front Left

Lower
54500AA100

TEKNOROT REF: HY-1248 ADAPTABLE HYUNDAI
Lateral Arm

Weight: 1,332

TUCSON

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

JM 2005–2009 Rear Lower 551102E002*

4WD

Length: 505,5

www.teknorot.com 14

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



July 2023

TEKNOROT REF: HY-1248 ADAPTABLE KIA
Lateral Arm

Weight: 1,332

SPORTAGE

MODEL NO BODY YEAR DIRECTION OEM NO

JE/KM 2005-2010 Rear Lower 551102E002*

4WD

Length: 505,5

TEKNOROT REF: JA-1118 ADAPTABLE JAGUAR
Lateral Arm

Weight: 4,52

S-TYPE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

X200 1999-2008
Rear Right

Lower
XR88759

COMPONENTS NUMBER NAME DIRECTION OEM NO

Until N38572

Length: 316,1

JA-934
Lateral Arm

Bushing
Rear Lower XR88759*, XR88760*

JA-1024
Lateral Arm

Bushing
Rear Outer XR88759*, XR88760*

www.teknorot.com 15

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



July 2023

TEKNOROT REF: JA-1119 ADAPTABLE JAGUAR
Lateral Arm

Weight: 4,52

S-TYPE

MODEL NO BODY YEAR DIRECTION OEM NO

X200 1999-2008
Rear Left

Lower
XR88760

COMPONENTS NUMBER NAME DIRECTION OEM NO

Until N38572

Length: 316,1

JA-934
Lateral Arm

Bushing
Rear Lower XR88759*, XR88760*

JA-1024
Lateral Arm

Bushing
Rear Outer XR88759*, XR88760*

TEKNOROT REF: JA-936 ADAPTABLE JAGUAR
Stabilizer Bar Link

Weight: 0,263

XJ

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

X308 1997-2003 Front K750059, MNC2105AA

From Chassis No:853936

Length: 140 Bolt Metric: M12X1,25

www.teknorot.com 16

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



July 2023

TEKNOROT REF: LA-276 ADAPTABLE LAND ROVER
Stabilizer Bar Link

Weight: 0,295

DISCOVERY SPORT

MODEL NO BODY YEAR DIRECTION OEM NO

L550(Facelift) 2019- Front LR114253

Length: 321 Bolt Metric: M10X1,5

TEKNOROT REF: LA-276 ADAPTABLE LAND ROVER
Stabilizer Bar Link

Weight: 0,295

RANGE ROVER
EVOQUE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L551 2019- Front LR114253

Length: 321 Bolt Metric: M10X1,5

www.teknorot.com 17

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



July 2023

TEKNOROT REF: M-1298 ADAPTABLE MERCEDES
Lateral Arm

Weight: 1,01

GLE-CLASS

MODEL NO BODY YEAR DIRECTION OEM NO

W167 2019-
Rear Right

Forward
1673503000

COMPONENTS NUMBER NAME DIRECTION OEM NO

Exc. AMG

Length: 390

ME-BS305
Lateral Arm

Bushing
Rear Forward 1673503000*, 1673502900*

ME-BS306
Lateral Arm

Bushing
Rear Forward 1673503000*, 1673502900*

TEKNOROT REF: M-1298 ADAPTABLE MERCEDES
Lateral Arm

Weight: 1,01

GLS-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

X167 2020-
Rear Right

Forward
1673503000

COMPONENTS NUMBER NAME DIRECTION OEM NO

Exc. AMG

Length: 390

ME-BS305
Lateral Arm

Bushing
Rear Forward 1673503000*, 1673502900*

ME-BS306
Lateral Arm

Bushing
Rear Forward 1673503000*, 1673502900*

www.teknorot.com 18

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



July 2023

TEKNOROT REF: M-1299 ADAPTABLE MERCEDES
Lateral Arm

Weight: 1,01

GLE-CLASS

MODEL NO BODY YEAR DIRECTION OEM NO

W167 2019-
Rear Left
Forward

1673502900

COMPONENTS NUMBER NAME DIRECTION OEM NO

Exc. AMG

Length: 390

ME-BS305
Lateral Arm

Bushing
Rear Forward 1673503000*, 1673502900*

ME-BS306
Lateral Arm

Bushing
Rear Forward 1673503000*, 1673502900*

TEKNOROT REF: M-1299 ADAPTABLE MERCEDES
Lateral Arm

Weight: 1,01

GLS-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

X167 2020-
Rear Left
Forward

1673502900

COMPONENTS NUMBER NAME DIRECTION OEM NO

Exc. AMG

Length: 390

ME-BS305
Lateral Arm

Bushing
Rear Forward 1673503000*, 1673502900*

ME-BS306
Lateral Arm

Bushing
Rear Forward 1673503000*, 1673502900*

www.teknorot.com 19

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



July 2023

TEKNOROT REF: ME-BS305 ADAPTABLE MERCEDES
Lateral Arm Bushing

Weight: 0,71

GLE-CLASS

MODEL NO BODY YEAR DIRECTION OEM NO

W167 2019- Rear Forward 1673503000*, 1673502900*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Exc. AMG

Length: 38

M-1298 Lateral Arm
Rear Right

Forward
1673503000

M-1299 Lateral Arm
Rear Left
Forward

1673502900

TEKNOROT REF: ME-BS305 ADAPTABLE MERCEDES
Lateral Arm Bushing

Weight: 0,71

GLS-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

X167 2020- Rear Forward 1673503000*, 1673502900*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Exc. AMG

Length: 38

M-1298 Lateral Arm
Rear Right

Forward
1673503000

M-1299 Lateral Arm
Rear Left
Forward

1673502900

www.teknorot.com 20

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



July 2023

TEKNOROT REF: ME-BS306 ADAPTABLE MERCEDES
Lateral Arm Bushing

Weight: 0,73

GLE-CLASS

MODEL NO BODY YEAR DIRECTION OEM NO

W167 2019- Rear Forward 1673503000*, 1673502900*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Exc. AMG

Length: 41,3

M-1298 Lateral Arm
Rear Right

Forward
1673503000

M-1299 Lateral Arm
Rear Left
Forward

1673502900

TEKNOROT REF: ME-BS306 ADAPTABLE MERCEDES
Lateral Arm Bushing

Weight: 0,73

GLS-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

X167 2020- Rear Forward 1673503000*, 1673502900*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Exc. AMG

Length: 41,3

M-1298 Lateral Arm
Rear Right

Forward
1673503000

M-1299 Lateral Arm
Rear Left
Forward

1673502900

www.teknorot.com 21

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



July 2023

TEKNOROT REF: M-1308 ADAPTABLE MERCEDES
Lateral Arm

Weight: 1,026

GLE-CLASS

MODEL NO BODY YEAR DIRECTION OEM NO

W167 2019-
Rear Right

Forward
1673508000

COMPONENTS NUMBER NAME DIRECTION OEM NO

Only AMG

Length: 390

ME-BS310
Lateral Arm

Bushing
Rear Forward 1673508000*, 1673507900*

ME-BS311
Lateral Arm

Bushing
Rear Forward 1673508000*, 1673507900*

TEKNOROT REF: M-1308 ADAPTABLE MERCEDES
Lateral Arm

Weight: 1,026

GLS-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

X167 2020-
Rear Right

Forward
1673508000

COMPONENTS NUMBER NAME DIRECTION OEM NO

Only AMG

Length: 390

ME-BS310
Lateral Arm

Bushing
Rear Forward 1673508000*, 1673507900*

ME-BS311
Lateral Arm

Bushing
Rear Forward 1673508000*, 1673507900*

www.teknorot.com 22

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



July 2023

TEKNOROT REF: M-1309 ADAPTABLE MERCEDES
Lateral Arm

Weight: 1,026

GLE-CLASS

MODEL NO BODY YEAR DIRECTION OEM NO

W167 2019-
Rear Left
Forward

1673507900

COMPONENTS NUMBER NAME DIRECTION OEM NO

Only AMG

Length: 390

ME-BS310
Lateral Arm

Bushing
Rear Forward 1673508000*, 1673507900*

ME-BS311
Lateral Arm

Bushing
Rear Forward 1673508000*, 1673507900*

TEKNOROT REF: M-1309 ADAPTABLE MERCEDES
Lateral Arm

Weight: 1,026

GLS-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

X167 2020-
Rear Left
Forward

1673507900

COMPONENTS NUMBER NAME DIRECTION OEM NO

Only AMG

Length: 390

ME-BS310
Lateral Arm

Bushing
Rear Forward 1673508000*, 1673507900*

ME-BS311
Lateral Arm

Bushing
Rear Forward 1673508000*, 1673507900*

www.teknorot.com 23

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



July 2023

TEKNOROT REF: ME-BS310 ADAPTABLE MERCEDES
Lateral Arm Bushing

Weight: 0,79

GLE-CLASS

MODEL NO BODY YEAR DIRECTION OEM NO

W167 2019- Rear Forward 1673508000*, 1673507900*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Only AMG

Length: 38

M-1308 Lateral Arm
Rear Right

Forward
1673508000

M-1309 Lateral Arm
Rear Left
Forward

1673507900

TEKNOROT REF: ME-BS310 ADAPTABLE MERCEDES
Lateral Arm Bushing

Weight: 0,79

GLS-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

X167 2020- Rear Forward 1673508000*, 1673507900*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Only AMG

Length: 38

M-1308 Lateral Arm
Rear Right

Forward
1673508000

M-1309 Lateral Arm
Rear Left
Forward

1673507900

www.teknorot.com 24

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



July 2023

TEKNOROT REF: ME-BS311 ADAPTABLE MERCEDES
Lateral Arm Bushing

Weight: 0,79

GLE-CLASS

MODEL NO BODY YEAR DIRECTION OEM NO

W167 2019- Rear Forward 1673508000*, 1673507900*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Only AMG

Length: 41,3

M-1308 Lateral Arm
Rear Right

Forward
1673508000

M-1309 Lateral Arm
Rear Left
Forward

1673507900

TEKNOROT REF: ME-BS311 ADAPTABLE MERCEDES
Lateral Arm Bushing

Weight: 0,79

GLS-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

X167 2020- Rear Forward 1673508000*, 1673507900*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Only AMG

Length: 41,3

M-1308 Lateral Arm
Rear Right

Forward
1673508000

M-1309 Lateral Arm
Rear Left
Forward

1673507900

www.teknorot.com 25

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



July 2023

TEKNOROT REF: MA-1181 ADAPTABLE MAZDA
Tie Rod End

Weight: 0,66

6

MODEL NO BODY YEAR DIRECTION OEM NO

GJ 2013-2021 Front Right GBEF32280

Length: 180 Bolt Metric: M12X1,25 Housing Metric: M14X1,5

TEKNOROT REF: MA-1182 ADAPTABLE MAZDA
Tie Rod End

Weight: 0,66

6

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

GJ 2013-2021 Front Left GBEF32290

Length: 180 Bolt Metric: M12X1,25 Housing Metric: M14X1,5

www.teknorot.com 26

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



July 2023

TEKNOROT REF: MI-1001 ADAPTABLE MITSUBISHI
Tie Rod End

Weight: 0,666

CANTER

MODEL NO BODY YEAR DIRECTION OEM NO

5th Gen 1986-1996 Front Right MC891648

Length: 97 Bolt Metric: M14X1,5 Housing Metric: M20X1,5

TEKNOROT REF: MI-1002 ADAPTABLE MITSUBISHI
Tie Rod End

Weight: 0,666

CANTER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

5th Gen 1986-1996 Front Left MC891647

Length: 97 Bolt Metric: M14X1,5 Housing Metric: M20X1,5

www.teknorot.com 27

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



July 2023

TEKNOROT REF: N-1106A ADAPTABLE NISSAN
Stabilizer Bar Link

Weight: 0,611

QASHQAI

MODEL NO BODY YEAR DIRECTION OEM NO

J12 2021- Rear Right 562616UA0A

Steel Type

Length: 113 Bolt Metric: M14X1,5

TEKNOROT REF: N-1107A ADAPTABLE NISSAN
Stabilizer Bar Link

Weight: 0,498

QASHQAI

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

J12 2021- Rear Left 562616UA0B

Steel Type

Length: 113 Bolt Metric: M14X1,5

www.teknorot.com 28

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



July 2023

TEKNOROT REF: N-11811182 ADAPTABLE NISSAN
Center Link

Weight: 1,137

FRONTIER

MODEL NO BODY YEAR DIRECTION OEM NO

D22 1998-2004 Front D8510VK90A

Length: 297 Bolt Metric: M14X1,5 Housing Metric: M14X1,5

TEKNOROT REF: N-11811182 ADAPTABLE NISSAN
Center Link

Weight: 1,137

Pickup

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

D22 1998-2012 Front D8510VK90A

Length: 297 Bolt Metric: M14X1,5 Housing Metric: M14X1,5

www.teknorot.com 29

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



July 2023

TEKNOROT REF: PO-KT002 ADAPTABLE PORSCHE
Control Arm Bushing Kit

Weight: 0,34

PANAMERA

MODEL NO BODY YEAR DIRECTION OEM NO

971 2017- Front Lower 971407152R*, 971407151R*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 56

PO-548
Control Arm

and Ball Joint
Front Right

Lower
97034105424

PO-549
Control Arm

and Ball Joint
Front Left

Lower
97034105324

TEKNOROT REF: SU-788 ADAPTABLE SUBARU
Control Arm and Ball Joint

Weight: 0,871

IMPREZA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

GK/GT 2017–2023 Rear Forward 20250VA000

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 253 Bolt Metric: M12X1,25

SB 1241
Control Arm

Bushing
Rear Right

Lower
Part of 2020FG020

www.teknorot.com 30

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



July 2023

TEKNOROT REF: SU-788 ADAPTABLE SUBARU
Control Arm and Ball Joint

Weight: 0,871

WRX

MODEL NO BODY YEAR DIRECTION OEM NO

2014- Rear Forward 20250VA000

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 253 Bolt Metric: M12X1,25

SB 1241
Control Arm

Bushing
Rear Right

Lower
Part of 2020FG020

TEKNOROT REF: SU-798 ADAPTABLE SUBARU
Control Arm and Ball Joint

Weight: 3,17

IMPREZA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

GK/GT 2017–2023
Rear Right

Upper
20252VC020

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 266,4

SU-644 Ball Joint Rear Upper 20252VC020*, 20252FJ030*

www.teknorot.com 31

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



July 2023

TEKNOROT REF: SU-798 ADAPTABLE SUBARU
Control Arm and Ball Joint

Weight: 3,17

LEGACY

MODEL NO BODY YEAR DIRECTION OEM NO

BN/BS 2015-2020
Rear Right

Upper
20252VC020

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 266,4

SU-644 Ball Joint Rear Upper 20252VC020*, 20252FJ030*

TEKNOROT REF: SU-798 ADAPTABLE SUBARU
Control Arm and Ball Joint

Weight: 3,17

WRX

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2014-
Rear Right

Upper
20252VC020

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 266,4

SU-644 Ball Joint Rear Upper 20252VC020*, 20252FJ030*

www.teknorot.com 32

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



July 2023

TEKNOROT REF: SU-799 ADAPTABLE SUBARU
Control Arm and Ball Joint

Weight: 3,17

IMPREZA

MODEL NO BODY YEAR DIRECTION OEM NO

GK/GT 2017–2023
Rear Left

Upper
20252FJ030

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 266,4

SU-644 Ball Joint Rear Upper 20252VC020*, 20252FJ030*

TEKNOROT REF: SU-799 ADAPTABLE SUBARU
Control Arm and Ball Joint

Weight: 3,17

LEGACY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

BN/BS 2015-2020
Rear Left

Upper
20252FJ030

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 266,4

SU-644 Ball Joint Rear Upper 20252VC020*, 20252FJ030*

www.teknorot.com 33

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



July 2023

TEKNOROT REF: SU-799 ADAPTABLE SUBARU
Control Arm and Ball Joint

Weight: 3,17

WRX

MODEL NO BODY YEAR DIRECTION OEM NO

2014-
Rear Left

Upper
20252FJ030

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 266,4

SU-644 Ball Joint Rear Upper 20252VC020*, 20252FJ030*

TEKNOROT REF: SU-KT001 ADAPTABLE SUBARU
Control Arm Bushing

Weight: 0,946

LEGACY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

BN/BS 2015-2020 Front 20202AL001*, 20202AL011*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 121,8

SU-738
Suspension
Control Arm

and Ball Joint

Front Right 20202AL001

SU-738S
Suspension
Control Arm

Front Right 20202AL001

www.teknorot.com 34

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



July 2023

TEKNOROT REF: SU-KT001 ADAPTABLE SUBARU
Control Arm Bushing

Weight: 0,946

OUTBACK

MODEL NO BODY YEAR DIRECTION OEM NO

BS 2015-2019 Front 20202AL001*, 20202AL011*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 121,8

SU-738
Suspension
Control Arm

and Ball Joint

Front Right 20202AL001

SU-738S
Suspension
Control Arm

Front Right 20202AL001

TEKNOROT REF: V-998 ADAPTABLE VOLKSWAGEN
Lateral Arm

Weight: 1,375

CADDY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

Type SB 2020-
Rear Right

Lower
5R3505224D

Length: 389

www.teknorot.com 35

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



July 2023

TEKNOROT REF: V-999 ADAPTABLE VOLKSWAGEN
Lateral Arm

Weight: 1,375

CADDY

MODEL NO BODY YEAR DIRECTION OEM NO

Type SB 2020-
Rear Left

Lower
5R3505223D

Length: 389

www.teknorot.com 36

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm


